1. [bookmark: _GoBack]Zostav príklady na odčítanie:

	





	..............................................                                                 .............................................                        ...............................................
1. Znázorni  príklady na odčítanie:
              	
                 	5  -  2  =...............
	5  -  4  =...............
4  -  1  =...............


1. Vypočítaj :

	5
	-
	3
	=
	
	
	3
	-
	2
	=
	

	2
	-
	1
	=
	
	
	1
	-
	1
	=
	

	4
	-
	3
	=
	
	
	3
	-
	1
	=
	

	2
	-
	2
	=
	
	
	5
	-
	2
	=
	

	5
	-
	4
	=
	
	
	4
	-
	0
	=
	



1. Vypočítaj  a doplň správny výsledok:

+2
+2
+2
- 4
1



            
